[image: image1.emf]Assets Year 1 Equity & Liabilities Year 1

Cash 40Short term debt 90

Short term investments 60Trade payables 80

Trade receivables 200Tax liabilities 80

Inventories 160Accrued expenses 20

Prepaid expenses 30Long-term debt 160

Net fixed assets 390Owners equity 450

Total 880Total 880

Income statement Year 1

Net sales 1200

Variable costs 860

Selling and administrative costs 150

Depreciation 40

Financial expenses 20

Income tax 40

Dividends 75
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MAKE-UP EXAM 2019-2020
Corporate Investment Appraisal 
Master in Finance
7 February 2020
Duration: 1:30 hours 
Please turn off your mobile. Please keep silence at all times. Call the teacher in class if you are in need.

You are allowed to use an A4 page (front and back) with your notes and formulas. If you are stuck in one question, please move forward and come back later if you have time. Please write in readable way, otherwise, it is not possible to grade unreadable text. Explain your steps (and assumptions) and give evidence of the number behind the output. If not, if the output is wrong, the answer has to be considered wrong.  

Good luck
PART I – INVESTMENT AND FINANCING
Question 1 – Explain why EBITDA is not an appropriate measure to analyze the ability of the company to pay its debt. What is your alternative proposal (2 points).
Question 2 – You work for a company that is considering to invest in a new plant to manufacture a new product developed by the R&D Department and you are asked to develop a cash-flow model and estimate the WACC. (Please do the calculations in thousands of euros)
1. Project useful life: The investment will occur this year and the plant will start operation next year and will be managed directly by the company during three years. The company will create a SPV (Special Purpose Vehicle) for this project and expects sell the SPV in the market at the end of the third year;
2. Terminal value: The selling price of the SPV is expected to be €4.000 thousand and in addition the recovery of the WCR; 

3. CAPEX: €6.000 thousand in construction, equipment and installation that is depreciated over ten years by the straight-line method.

4. Maintenance Investments: During operation, it is expected to invest every year in the plant €90 thousand that is depreciated in 3 years. 

5. Land: The plant will be built on a land that was acquired some years ago for €200 thousand and its market value is now €500 thousand.
6. Revenues: The company expects to sell 5.000 printers in the first year, 10.000 in the second year and 20.000 thereafter. The printers are to be sold at €800 each
7. The incremental operational costs: Direct and indirect expenses are expected to be €500 per printer.

8. Overhead allocated costs: The financial director developed a corporate manual that to each division or project there is an allocation a cost as of 3% of revenues

9. Cash Conversion Cycle: Expected to be 60 days of revenues

10. Income tax rate: 25%

(Turn over the page, please…)

11. Financial market information: Market risk premium in this market is commonly accept as 6%; The project has a similar risk to the corporate risk. Companies with AAA bond rating have a yield of 3% in the market and BBB have a yield of 4%. The Treasury Bonds with 10 years maturity has a yield of 2%. The Beta of similar companies is 0,9. S&P has rated the company recently as a AAA.
12. The capital structure: the SPV will use a similar capital structure as the corporation which is 40% Debt and 60% Equity. 

a) Estimate the project’s relevant cash flow (3,5 points)

b) Estimate the WACC to be used in the analysis of this project using two decimals (2 points).
c) The CFO is arguing that this project should be financed with a higher level of debt to 60% Debt and 40% Equity in order to create more value for shareholders. What are impact of this decision on your work and what is your opinion in relation to shareholder value? No need to do recalculation. Present your view only. (2,5 points)

PART II – PERFORMANCE APPRAISAL 
1. Restructure the balance sheet in the table below to a managerial form (2 points)
2. Analyze the impact of leverage to the shareholders equity return. A sample of major competitors has shown last year a ROE of 17% and D/E ratio was 0,66. (3 points)
3. Access the operational and financial risk of the company using the concept of safety margin and/or other ratios that might give you a broad overview of risk (3 points)
4. What are the shortcomings of this risk analysis? (2 points) 
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